2004-2005 7TH GRADE CONTEST Answers
29. The first 12 contestants won an average of $80. The next 20 29.
won an average of $70. The 32 contestants won an average of
A) $73.75 B) $74.75 C) $75.00 D) $75.75
30. 43x4® = A)16° B)16° C)4° D)4® |30.
31. At most ? circles of radius 1 with non-overlapping interiors 31
can fit inside a square with side-length 4. Y
A1 B4 5 D)6 =0=
2. 01% = 1% - 2. } 32.
A)0.009% B)0.09% C)09% D)10% L=
33. Today is my birthday. My age today, 33.
in months, is 72 times my age 5 years
ago, in years. My age today, in years, is
A)6 B 7 C8 D12
34. VVBTXBIXBIX 8 = 34.
A) 3 B) 9 C) 27 D) 81
35. Of 2005 integers whose product is even, at most ?_can be odd. |35.
A) 2005 B) 2004 01 D) 0
36. The number ? equals one-fourth of its own reciprocal. 36.
1 1
A) 5 B) C) 2 D) 4
37. How many of the numbers 11,21,31,41,51,61,71,81,91 are prime?  [37.
A) 4 B) 5 C) 6 D) 7
38. (301+302+303+...+325)—(1+2+3+...+25) = 38.
A)25 B)2s00 C)5000 D) 7500
39. Of the following, which is the first 39.
time after 4:30 that the minute and
hour hands of my circular alarm
clock no longer form an acute angle? g
A)4:36 B)4:37 C)4:38 D)4:39
40. Consecutive letters of the alphabet, 40.
starting with A, are given increasing
consecutive integer values. If H+K+L+N = 2005, then the
average of all 26 of the consecutive integers is
A) 491 B) 498 C) 503.5 D) 505.5

The end of the contest &5 [
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2004-2005 Annual 7th Grade Contest

February 15 or 22, 2005 ?
Instructions

s Time You will have only 30 minutes working time for this contest. You

might be unable to finish all 40 questions in the time allowed.

m Scores Please remember that this is a contest, not a test—and there is no

“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-

swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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